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1. Growth of pollen tube towards ovule is an
example for

(A) Phototropism

(B) Thigmotropism
z (©) Chemotropism.””

(D) None of the above

2. The first king of Vardhana dynasty is
(A) Jaya Vardhana
) Prabhakar Vardhana «~
(C) Harsha Vardhana
(D) Geeta Vardhana

3. The characteristic feature seen in carbon is
(A) Saturation -
@5 Catenation

(B) Unsaturation
(D) Combination

/8. ' Which of the following is an Arithmetic
progression ?
(A) a,a%a%at.. (B) 12,22 32 42, .
(0f a,2a,3a 4a,. (D) Allofthese

5. Central Food Technological Research
Institute is centered at

(A) Bengaluru
(Y. Mysore

(B) Dharwad
(D) Belagavi

6. CH,CH,0H ‘_Hé%‘)CHSCOOH; Xis
(A) Acidified KMnO,
/(B) Alkaline KMnO,
(C) Alkaline K,Cr,0,
(D) FAs

7. Which among the following has greater
value of refractive index ? -

(A) Ice (B) Kerosene
.Lﬂ% Ruby (D) Rock salt

+

. FIT-T T TR A R 7

T ohfsd 21
(A) STEE - (B) uRETS
(C) W (D) ST

?'
AT VT
WAl R g HtemafE_ F
ot Seretor Bl
(A) SeRTTE ' i
(B) TqwIigad -

(QIRGIEEIGERE]
(D) ST AAHS TR

eI 97 <1 99T TS B ,
(A) ST L

(B) TR FeiH

(C) &9 aEq

(D) T g

EICE R R I DIRS I ERC [ BN L L1

(A) Fq (B) g
(C) HfeAyH (D) GISH

(A) a,a% ad a*... (B) 12,22 32 42, ..
(€) a,2a,3a 4a,. (D) Jat

X
CH,CH,OH __GTG!]T") CHGCQOH; X3
(A) STATFT KMnO,

(B) &R@KMnO

(©) i chrzo? CYl, E\L (0]
(D) FAs W
AT St sifrr B 2 2

(A) =% (B) e
(C) wifver (D) &he 7o
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8 Whnch of the following constitute a food

chain ?
(A) Grass, Wheat and Mango

(B) Goat, Cow and Elephant
(C) ,Deer, Grass and Cow
“ Grass, Deer and Tiger

9. Plaster of Paris on mixing with water
produces
(B) , Slaked lime

Gypsum

(A) Soap stone
(C) Lime stone (

10. missing letter in the sequence
T

B) P
(D) R

11.  The atomic radius of hydrogen atom is

JAr 37 pm (B) 27 pm
(C) 47 pm (D) 17 pm

An object 4 cm in size is placed 40 cm
in front of a concave mirror of focal length
30 cm. At what distance from the mirror
shoulda screen be placed in order to obtain
sharp image ?
JA) 120 cmiin front of the mirror

(B) 37.5 cmin front of the mirror

(C) 17.14 cm in front of the mirror

(D) 100 cmin front of the mirror

13. Which of the following is not a constitutional

body in India ? o P
(A) Finance Commission |
(B) Attorney General of India

JE) Solicitor General of India
(D) SC and ST Commission

hé G .
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(A)-O (B) P
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(A) 37 pm (B) 27 pm
(C) 47 pm (D) 17 pm
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14. The Panchayath Raj Bill passed in Indian

0’¢ Parliament in the year
% JJ (A) 2017 (B) 1990
'
V_,J J2) 1992 (D) 1994

15. Complete the analogy, C}Xfu""}
?

Ottawa : Canada : : Canberra ™" 7
\.‘\“f(f'-\) Sri Lanka (B) China

. L-I K
(D\)\I (2) Australia (D) Japan

16. is present in Tomato.

(A) Citric acid Bf Oxalic acid
(C) Lactic acid (D) Acetic acid 5
i
is most ductile metal.
(B) Fe
(D) Sn

17.
Yt (6({‘ (Eg\
O~ (©) cu

18. Water harvesting is a method which
\ “I(ﬁ(f Increase ground water level
- aC/ (B) Has no relation with ground water
:}\9‘" (C) Decrease ground water level
(D) Has not practised in modern days

19. The tenure of Gram Panchayath is

< (A) Byrs (Bf' 5yrs
O\‘;‘:}' (C) 4yrs (D) 8yrs

20) The phenotypic ratio of a dihybrid cross in
F, generation is

(A) 1:2:1
(C) 3:1

(Bf 9:873:1
D) 1254521

21. Akshith ranks 13" in a class of 46, What
will be his rank from the last ?

(A) 33 (B) 35

(o =4 (D) 36
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15.

16.

18.

19.

20.

21,

L T R
VI |ae o v=madt U faeaes
ELR:R 1t gt 2|

(A) 2017
(C) 1992

(B) 1990
(®) 1994

HEYaT qui i |

e ; TSt o2 AT ?

(A) et (B) =
© wfm  (©) T

(&) Tafdes av (B) Heifereh 3
(C) AfRwara (D) e

gaifies a4 91g 3
(B) Fe
(D) Sn

(A) Au
(C) Cu

STt guRY v fafyy @ <

(&) O A TR TR R

(B) 1 1t & Y ey 7 2

(C) M S T ey 2

(D) 3MmYfies W o sy o 7 @

T YT 1 FRIRTE

(A) 69 B) 5a¢

(C) 494 (D) 8=y

F, didt T e 1 fieft orgom 2
(A) 1:2:1
(C) 3:1

B) 9:3:3:1

D) 1:2:1:2:1
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24,

@

Select the word which is least like other
words in the group.

(A) Indian Ocean (B) Pacific Ocean

(C) Arctic Ocean  (DP)"Red Sea
The state Animal of Haryana is

(A) Peacock (B) Lion

(C) Tiger (D) Black buck

Following is a canal irrigation system in
Himachal Pradesh

(&) Kuhls
(C) Suran (D) Kattas q
;\rfc,z ﬂ(a\iﬁa\rzg‘ tﬂm 7
Recently held US-open 2018 tennis has

been won by p A - gy‘

1. Naomi Osaka

(B) Eris dm'

22,

23.
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T8 e A T AE H o1 vl @ wed
e
(A) fég mem@mR (B) WYIId HETETR
(C) 3Thfeeh HEETR (B) el gTR
T 1 T Uy R
(A) AR (B) I
(C) @™ (D) et gm
frefafen 4 @ e wew & v famnd
YUt &
(A) Fed (B) T
(C) g™ (D) g

BT € g7 uE - 3719 2018 2
ECUSICIRIp

1. A TR

2. Serena Williams 2. QT fafeeg

3. Novak Djokovic 3. A FIfTE

4. Del Potro 4. 39 ‘ff@ff
Select the answer given below A9 o e s g .
(A) Only 1 B} 1and3 (A) Fae 1 (B) 133
(C) 2and 4 (D) Only 3 (C) 234 (D) Few 3
Which of the following statement/s given{:y @ y Fefafad § & S-ar s ST & ey
below is/are true regarding bacteria ? -\"; A Et& Tadtd?

1. Bacteria can infect the virus. y g‘(’
Q

2. Bacteria can grow at any temperature
between 5 - 60 degree Celsius.

3. Bacteria are more dangerous than virus,
Select the answer given below :
(A) 1 Only
(B 2 and 3 only
(C) All of the above
(D) None of the above

X
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2. Sftamy 5 - 60 ferft At ¥ e feh
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(A) heret 1
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(©) I mft

(D) Iwfera 3 & g 72y
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27.

28.

29,

30.

31.

The zeroes of the polynomial 4s2 — 4s + 1
are

1
(A) O, 7

2
)
C) 1,2
(D) None of these

N =
N| =

The process of detecting the signal or the
input and responding to it by an output
action might be completed quickly, such a
connection is commonly called as

(A) Reflex action

:? Sensory pathway
) Reflex arc

(D) Motor pathway

Which material among the following has
low resistivity ?

(A) Glass
(B) Constantan
(C) Iron

(J) Silver

Select the pair in which the numbers are -

similarly related as in the given pair, 8 : 64.. ..

(A) 9:87 B) 11:121
(C) 13:167 (D) 15:226

Consider the following pastoral nomads
community with their major habitat state.

(A) Dhangars - Maharashtra
(B) Raikas — Rajasthan
(C-if Both are right

(D) Both are wrong

A 0O O

a7, TR 452 — 45 + 1 B IAR

28.

29.

30.

31.

i,
(A 0, 7

. (A) wiiad fera

(B) Fact |rt
(C) wftferar amq
(D) Haed AnFt

fr=feaRaa & @ forg vered ) wiesar
g ?

(A) ==

(B) wHIEHA

(C) <ra

(D) =it

T8 g e e vt s 43 g

B TWE 64F R |
(A) 9:87
(C) 13:167

(Br 11:121
(D) 15: 226

ﬁq%ﬁaamﬁmw |
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A

3

35.

37.

2. The Smallest Union Territory of India in

terms of area is

(A) Delhi

(B) Chandigarh

(CY Lakshadweep
(D) Andaman Nicobar

For spherical mirrors of small apertures the
radius of curvature is found to be equal to

\U() Twice the focal length
(B) Thrice the focal length
(C) Half of the focal length
(D) Focal length

Blood consists of fluid medium called
(A) Lymph (B) Platelets
(C) Haemoglobin .(R)Y"Plasma

Sonu Nigam was born in
(A) Pataliputra (B) Panipath
(C) Patna (DY’ Faridabad

If the fossil of an organism is formed in
deeper layers of earth, then we can predict
that

(A) The extinction of organism has
occurred recently

M The extinction of organism has occurred
several thousands of years ago

(C) Time of extinction cannot be
determined

(D) Fossil position in the layers of earth is
not related to its time of extinction

Silver when exposed to air becomes black
due to the formation of

(A) A92 (B) AgCl

- ML(D) Ag,CO,
C_,l\ 'UU—{

e, A

32.

33.

34.

35.

36.
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&Rt 31 gfRe & e o1 Tl BieT g it
o 2

(A) Taeeht
(B) =g
(C) weTa
(D) 3eHM PR

312 f5g & MR 29T 6l Fhar B
% SR Bl 2

(A reRe e o 2

(B) ikl TieITS T A1 T[0T

() iehel TaITS T ST

(D) Wi TS

TEAAFATNET_ Fedrd al
(A) TR (B) wiccied
(C) dWreifeaT (B) T

| A w7 S
(A) Trefergs

(C) W

g |
(B) UHgd
(p) wiieETE

3t Sftar it Sfar geaht o Tl vt § qear
&, ol &9 %8 Tk & 5

(A) fta e ¥ 3 g gam
) <fta Fo ad qd & e gan @

(C) T B 1 gng Fratfg 78 fFm
bl &

(D) qazt’rﬁwhﬂsﬁa’mq#mw%
B % T Q Gl T8 2

I o T H T W =i
% T FHIeh T e )
(A) Ag,0 (B) AgCl
(€) Ag,S (D) Ag,CoO,

 wEm
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38.

39.

40.

a1.

42.

43.

44,

Yamuna enters Haryana from the districts of
(B) Kaithal
(D) Karnal

(Ay Yamunanagar
(C) Bhiwani

If ‘P’ means ‘x’, ‘R" means ‘+', ‘T’ means ‘+’
and ‘S’ means ‘~' then 3T4P5R8S6 = ?

(A) 21 ® 4
[C)"-3 (9{ None of these

Damdama lake is in the districts of

(A) Faridabad (B) Rohtak

(ij Gurgaon (D) Hisar
A — =

In the figure P if ABCD is a
LR &

square of side 14 cm and APD and BPC
are semicircles, find the area of the shaded
region.

(A) 32sq.cm.
((;j 42 sq.cm.

(B) 38 sqg.cm.
(D) None of these

Babur defeated Lodhis in the | war of
(4) Panipath (B) Gujarat
(C) Kurukshetra (D) Delhi

affects optic nerve and causes

blindness.
(A) Ethanol (B) Ethane
(gf Methanol (D) Methane
Solder is an alloy of Pb and
(A) Zn (B) Cu
) sn (D) Pd

Ny
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/1'\
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(A

4

5. Following is an example for unisexual

flower

: \JA’; Papaya

46.

Hiv P

47.

48.

49,

50,

Ty

(B) Hibiscus
(C) Mustard
(D) Pea

HUDA means

(A) Haryana Urban Domicile Area

(B) Haryana Under Developed Area
@) Haryana Urban Development Authority

(D) Hindi Urdu Domi 'eﬂﬁea P
zap 20 S 4

Prenatal sex determination has been
prohibited by law to avoid

(A) Sexually transmitted disease

(B) Over population

JZ) Female foeticide

(D) Artificial fertilisation

Formula of sodium zincate is
(A) Na,ZnO B Na,ZnO,
(C) NaZnOz (D) NaZn,O

Bhagavath Geetha had little impact until the
commentary written by

{A) Shankaracharya
(B) Madvacharya

(C) Ramanujacharya
(D) Vallabhacharya

ﬁ-«jit travelled 20 km eastward, then turned
right and travelled 5 km, then turned right

and travelled 20 km. How far was he from
the starting point ?

) 15 km ( 5 km
(C) 10 km ‘(/g)fg()km

-9-
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wshfertt g7 % o Fraferfa u semwm 3
(A) Tdtar
(B) Ts&
(C) =i
(D) A

HUDA &1 farem @ iy
(A) ef@m e SftmEA afer A
(B) wfwm it feders Tiwan

(C) afamn el feamrae e

(D) &t 3¢ Siftramser wien

s ferm it + I
fafyg 21

(A) TN ZI0 G=iE T

(B) St T

(€) =T guI g

(D) Ftm =

 Sifem Rt

(A) Na,ZnO (B) Na,ZnO,
(C) NaznO, (D) Nazn,0
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(B) mear=Ty
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vol.

52.

54.

55.

56.

57.

A train travels 360 km at a uniform speed. If
the speed of the train had been 5 km/hour
more, it would have taken 1 hour less for
the same journey. Find the speed of the

train.
(9( 40 km/hr

(A) 45 km/hr
(C) 50 km/hr (D) None of these

is a metalloid.
(B) Titanium
(D) Magnesium

Q() Tellurium
(C) Tin

Bleaching powder is produced by the action
of chlorine on

(A) CaO
(C) Ca(HCO,),

(B) CaCo,
(DY Ca(OH),

A rectangular coil of copper wires is rotated
in a magnetic field. The direction of the
induced current changes once in each

(A) Two revolutions

(B) /ne revolution

(Q/Ijalf revolution

(D) One-fourth revolution

Surender Sharma, a popular poet belongs to
(A) Panipath (
(C) Faridabad

Mahendragarh
(D) Osho

is responsible for decreasing
sugar level in blood.

(A) Glucagon
(CY Insulin

(B) Oxytocin
(D) Adrenaline

The festival for snake worship in Haryana
is called as

(A) Naga Panchami (B),/Gugga Navmi
(C) Naga Pooja (D) Nagotsav

740 f%‘/"u’1
.

Q- O/,S &5 -10-

52.

51.

53.

55.

57.
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(A) CaO (B) CaCoO,

(C) Ca(HCO,), (B) Ca(OH),
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58.

59.

60.

61.

62.

63,

64,

L) 2:3

The Mahabharata names Haryana as

Uxf Bahudhanyaka (B) Pramoda
(C) Prajapathi (D) Angeerasa

Leaves of Mimosa are sensitive to
(A) Light (B) Heat
(C) Smell (Mouch

The ability of the eye lens to adjust its focal
length is called '

SA) Accommodation (B) Myopia

(C) Hypermetropia (D) Astigmatism

The chlorophyll in photosynthesis is used for
(éf Absorbing light

(B) Breaking down of water molecule
(C) No function
(D) Reduction of CO,

Sides of two similar triangles are in the ratio
4 : 9. Areas of these triangles are in the
ratio

(B) 4:9

(C) 81:16 @) 16:81

Antacid among the following is
) Milk of magnesia
(B) Blue vitriol

(@n Washing soda
(D) Soda lime

The Markanda river was known as
in ancient times.

(@ Indori

(D) Gaggar

(A) Sahibi

@A Aruna

-11-

58.

59.

60.

61.

62.

63.

64.

11/2017 (5M)
HEMWE § el s =M @ TR

(Ap TEI=TH (B) wHIg

(C) wmafe (D) rfia

g Aakai _ FfwEadR
(Ap ST (B) FeT
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66.

67.

68.

69.

70.

71.

ESZ means

(A) conomics, Sociology and Zoology
(B\)/Eco—Sensitive Zone ’

(C) Economic Friendly Zone

(D) Electronic Sensitive Zone

The larger of two supplementary angles
exceeds the smaller by 18°. Find them.

(A) 18°,72° (B) 60°, 78°

(gf 81°, 99° (D) 62°,18°
Kalka constituency comes under the district of
(A) Ambala (B) Panchkula
(C) Rohtak (D) Karnal
Sohna Car rally started in the year

(A) 1963 (B) 2012

«cf 1964 (D) 2008

The Governor of Haryana lives in
(A) Panch Mahal

(Ej Haryana Raj Bhavan

(C) Vidhan Parishat

(D) Vidhan Sabha

Saline soil occurs in the parts of
(B) Sonipat
(Q‘ All of these

(A) Gurgaon
(C) Rohtak

Chand Bardai wrote the book titled
(A{ Prithviraj Raso

(B) KrishnaleelaTarangini

(C) Brij Bhushan

(D) Raijtej

-12-

65.

66.

67.

69.

70.

71.

0 OO

ESZ =1 3719 ?

(A) TR, @RSt g8 et
(B) sh dfafas |

(C) T Feel I

(D) s dfafea siF

3 S i Y AT B & 18° AR T |
3% 919 hifs)

(A) 18°,72° (B) 60°, 78°

() 81°, 99° (D) 62°,18°
FeT e T o St T 2 |
(A) SfaTe (B) WG

(C) Ugd= (D) T
denanitefiad _ HYEE |

(A) 1963 (B) 2012

(C) 1964 (D) 2008

BAOTHITER _ HEdre |
(A) U= HEd

(B) sRmon U weT

(C) faum uftsg

(D) faum @

Wﬁq‘ilﬂ.____% I 78 STt 2 |
(A) T (B) drfia

%@:‘Tﬂ — Yo
(A) 9= Ty

(B) FwIeftaT aifiyoft

(C) I sy

(D) TrsTe
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72.

73.

74.

75.

76.

I ECONOMICS' is written as ‘SCIMONOCE,,
how ‘PHYSICS' can be written in that code ?
(A) SCIYSHP
(B) SCSIYHP
(2f SCISYHP
(D) SCISHYP

Kartik festival is celebrated at
(A) Pongal Sabha

(B) Bishu Mahal

(C) Onam Mahal

(O Nahar Singh Mahal

The administrative officer of the state
division is called as

(A) Chief Minister
(mﬂ Commissioner
(C) Prime Minister
(D) Tahsildar

A current of 0.2 A is drawn by a filament of
an electric bulb for 10 minutes. The amount
of electric charge that flows through the
circuit is
(A) .2C

120 C
(C) 0.02C
(D) 12C

A current through a horizontal power line
flows in east to west direction. The direction
of magnetic field at a point below the wire is

(A) South to North
(B) East to West
(&Y North to South
(D) West to East
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Ifs ‘ECONOMICS’ ) ‘SCIMONOCE’ farat
STar 8, @ ‘PHYSICS’ s 3H e i @ Ry
QT ?
(A) SCIYSHP
(B) SCSIYHP
(8) SCISYHP
(D) SCISHYP

ifede ER TR ST R |
(A) I T

(B) forgg e

(€) A HEd

(D) TEEE HEd

L4

T AT A e STfeErrt

FeATd 8

(A) FEamst
(B) g
(C) wuTwt
(D) dEHlER

U fow]d es % T dg 810 0.2 A Y foqe
10 fore & fore wifeht st 21 forge smaw
1 % AT W afy § st

(B) 2C
(B) 120C
(C) 0.02C
(D) 12C

T forega ama od @ ufvem fam o v S
T o ATEH @ el 2 1 A 3 9 G g W
Herehiy &= <t fewm ?

(A) aféFor & I
(B) Y & ufvem
(C) I A 2fdqor
(B) ufrew &
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English Language
Use appropriate article to fill in the blanks :
: 84. 1T yreq v G ET 2
77. t1) 950 is . year in which India (A) 3teTge (B) FEATTH
ecame a republic. O ZiEeal
(A) not needed (B) a (.C) i
(€) the (D) an 85. gftr faae hifor : foremeff el -
_ (A), farg + ameff (B) Toe + A
78. Bangkok is capital of Thailand, formm + areff (D) for + qgmefi
(A not needed (By a . ‘
(C) an d the 86. Werai i 37ef F @y e :
. (e1) (=)
Change the following sentence to present perfect, 1. WHWTIIST 3. B HT
79. We are planning to go out. > g’zl?rﬁ Ehll e SUEL
(A) We are planned to go out . %v_vﬁﬂ\%m g @ﬁa@ aﬁm e
(B) We planned to go out ” ' - T
gWehasplannedtogoout PIe%y S 8-, o=
) We have planned to go out e e T
N (C) 1-31, 2-3, 3-37, 4-3
F|IIt Inthe blanks with correct word from the given @) 1-3, 2-3m, 3-3, 4-%
option :
T 87. Ys AN -
80. When people get proper health care, it is (A), 81 & firet )
boynd to increase their life . (8) TR 3T )
(A) expectation (B) expecting (C) M feeet mar o)
(C) expected (D) expect (D) H 3T g fay o)
81. Recently | read an article about the 88. “HIEA 3 eI U7 Ie AT g T A 8 7
taking place in the health services. (A) Gfey adum = .
(A) improving (g improve (B) UM FTa
(C) improved (@) improvement @) s
Fill in the blanks with appropriate preposition. (D) wf3 I
89. HIAT Tq'EEF:F[
82. The news about his recovery brought (A) qﬂ%?q?r TR
immense relief —@{Jis relatives. C) urfat B), "= ‘
(A) at to (©) (9{ HTATY
€) for D) with ‘ :
(©) (D) 90. ggmaﬁww T AT S ity
83. _ health, we should also address
the needs of people in education and (gymmﬁmmw qr|
employment. (BY T & vomm =it ey SCIERI ]
(A) By ‘(?( For (C) TH ¥ Y orr gy 2 (
(C) In ) Besides (D) T ¥ Rt oyt gy
' |
I -14- |
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